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6.1 HEWICET 5 Mk~ E %5 o3 &k R

ERE w1l BBE EEE
4 1.0001 1 0.0001 0.0120
Bk ] 1.0018 1 0.0018 01304
GIms] 0.0000 0 0.0000 0.0000
D 1.0043 1 0.0043 0.4333
=Bl B w1l = BEE=
8 1.9988 2 -0.0012 -0.0624
Bk ] 1.0000 1 -2 04E-5 -0.0029
GIms] 1.0058 1 0.0058 0.5753
D 1.0012 1 0.0012 01213
EBE I8 %1l BRE BRE=E
4 1.9981 2 -0.0019 -0.0925
Bk ] 2 9780 3 -0.0220 -0.7343
GIms] 1.0055 1 0.0055 0.5510
D 2 0175 2 0.0175 0.8763
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+6.2 ERADEERIER

Hz] FAHE RERIE RE ERE (Y]
RES[] IR ] KES[-] RAEC ] KES[-] ML 1| KES %8
1.00E+1 1.01E+0 4.00E-1 1.00E+0 1.00E+0 8.21E-3| -6.00E-1| 8.21E-1| -6.00E+1
1.00E+2 1.01E+0 3.30E+0 1.00E+0 1.00E+0 6.21E-3| 2.30E+0| 6.19E-1| 2.29E+2
1.00E+3 1.19E+0 3.17E+1 1.18E+0 1.18E+0 8.91E-3| 3.05E+1| 7.55E-1| 2.58E+3
1.00E+4 6.30E+0 8.14E+1 6.36E+0 6.36E+0 -578E-2| 7.50E+1| -9.09E-1| 1.18E+3
1.00E+5 6.01E+1 8.73E+1 6.28E+1 6.28E+1 -2.69E+0| 2.45E+1| -4.29E+0  3.89E+1
#*6.3 EXRBOEERER ]
fHz] FAHE RERIE B ERE (Y]
KES[-] G ] KES[-] G ] KES[-] GIFEC 1| KEX fI%8
1.00E+1 2.00E+3 7.00E-1 2.00E+3 1.80E-1 -341E-1| 5.20E-1| -1.71E-2| 2.89E+2
1.00E+2 2.01E+3 4.00E+0 2.00E+3 1.80E+0 6.45E+0| 2.20E+0 3.22E-1| 1.22E+2
1.00E+3 2.10E+3 1.79E+1 2.10E+3 1.74E+1 1.28E+0| 4.59E-1| 6.08E-2| 2.63E+0
1.00E+4 6.16E+3 7.35E+1 6.59E+3 7.23E+1 -433E+2| 1.16E+0| -6.56E+0  1.60E+0
1.00E+5 5.89E+4 8.61E+1 6.29E+4 8.82E+1 -3.97E+3| -2.08E+0| -6.32E+0 -2.36E+0
6.4 ERCHEERIER
Hz] SAHE IBmIE RE SR ERY]
KES[-] G ] KES[-] G ] KES[-] GIFEC 1| KEX fI%8
1.00E+1 8.98E-6 9.50E+1 6.28E-6 9.00E+1 2.70E-6| 5.00E+0| 4.30E+1| 5.56E+0
1.00E+2 1.04E-4 8.80E+1 6.28E-5 9.00E+1 4.16E-5 -2.00E+0| 6.62E+1| -2.22E+0
1.00E+3 6.65E-4 8.89E+1 6.28E-4 9.00E+1 3.65E-5| —-1.10E+0| 5.81E+0| -1.22E+0
1.00E+4 6.27E-3 8.99E+1 6.28E-3 9.00E+1 -1.55E-5| -1.00E-1| -2.46E-1 -1.11E-1
1.00E+5 6.08E-2 8.90E+1 6.28E-2 9.00E+1 -2.00E-3| -1.00E+0| -3.19E+0| -1.11E+0
%65 BERDOEERER
fHz] SAHE IBmIE RE EREER[Y]
RES[] AR ] KES[-] ARl ] KES[-] f#EC 1 | K=& VR
1.00E+1 1.00E+0 4.00E-1 1.00E+0 3.60E-1 1.50E-3| 4.00E-2| 1.50E-1| 1.11E+1
1.00E+2 1.01E+0 5.30E+0 1.00E+0 3.60E+0 414E-3| 1.70E+0| 4.13E-1| 4.74E+1
1.00E+3 1.19E+0 3.32E+1 1.18E+0 3.21E+1 8.18E-3| 1.06E+0] 6.93E-1| 3.29E+0
1.00E+4 5.98E+0 8.18E+1 6.36E+0 8.10E+1 -3.81E-1| 8.43E-1| -6.00E+0| 1.04E+0
1.00E+5 5.95E+1 8.80E+1 6.28E+1 8.91E+1 -3.38E+0| -1.09E+0| -5.38E+0| -1.22E+0




